;> restart
> SolGral == y(x) = _Cl-exp(2-x) + C2-exp(x)-cos(3-x) + C3-exp(x)-sin(3-x)

i SolGral =y(x) = Cl &+ C2¢"cos(3x) + C3¢€'sin(3 x) 1)
> DerSolGral = diff (SolGral, x)
DerSolGral .= & y(x)=2 CI e? 4 C2¢€'cos(3x) —3 C2¢€'sin(3x) + C3¢€'sin(3 x) 2)

| +3_C3¢'cos(3x)
> DerDerSolGral = diff (SolGral, x$2)
2

DerDerSolGral = % y(x)=4 Cle**—8 C2¢"cos(3x) —6 _C2¢€"sin(3x) &)
| —8_C3¢'sin(3x) +6_C3 e cos(3x)
> DerDerDerSolGral = diff (SolGral, x$3)
3
DerDerDerSolGral .= % y(x)=8 CI e?*—26 C2¢€"cos(3x) +18 C2¢'sin(3x) “4)

—26 C3¢'sin(3x) —18 C3 ¢ cos(3x)

:> with(linalg) :
> Para := solve({DerSolGral, DerDerSolGral, DerDerDerSolGral}, { CI, C2, C3})

3 2
L) —2 (%y(x)] +10 (%ym)

1 dx
— 2
2 = ,.C ®)

Para .= | Cl=

1 1 & . 42
20 3x)—3 3
30 ¢ (cos(3 x)2 +sin(3 x)z) ([ d’ y(x)) sn(3) [ di? y(x)j cos(3 x)

2
+ 6 cos(3 x) (iy(x)) -3 (d—zy(x)J sin(3 x) +2sin(3 x) (iy(x))),_C3=
dx dx

dx
2
L 1 [(d y(x )Jcos(3x)—3(dzy(x)JcosBx)
30 & (cos(3x)% +sin(3x)?) i’ dx
+ 2 cos(3 x) (%y(x)) ( Jsm (3x) —6sin(3 x) (%y(x))”
> EcuaDif := simplify(subs(_CI =rhs(Para[1]), C2=rhs(Para[2]), C3=rhs(Para[3]),
SolGral) ) -20
. & & d
EcuaDif =20 y(x) = E y(x) —4 (E y(x)] + 14 (a y(x)) (6)
> EcuaDifFinal = rhs(EcuaDif) — lhs (EcuaDif) =
3 2
EcuaDifFinal .= d—3 y(x) —4 (d—z y(x)] + 14 (i y(x)) —20y(x) =0 @)
dx dx dx

(> SolGralDos = dsolve( EcuaDifFinal)
SolGralDos :=y(x) = _CI "+ C2 ¢ sin(3x) +_C3 € cos(3 x) ®)




=> restart
> Ecua == y"-8y"+33y"-68y'+52y=0

4 3 2
Ecua:=ﬁy(x) —8 (%y(x)j + 33 [%y(x)) — 68 (%y(x)) +52y(x) =0 )

=> Sol := dsolve(Ecua)
Sol =y(x)=_Cle**+ C2&*x+ C3e* sin(3x) +_C4 e cos(3 x) (10)

>



